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;a} k|Zgsf pQ/ lbg'xf];\ . 
 
 
s_ pko'Qm zAb /fvL vfnL 7fpF eg{'xf];\ . Fill in the blanks with suitable words. (5×1=5) 

 
 
!= tf/fd08nsf] ;ª\Vof =============/x]sf] 5 . The number of constellations is............ 

 
 
@= x]df6fO6 =============== wft'sf] wfp xf] . Hematite is ore of ...........................metal. 

 
 
#= ultsf] P;=cfO= PsfO======== xf] . The SI unit of velocity is ....................... 

 
 
$= k/df0f'sf] M ;]ndf clwstd =============cf]6f On]S6«f]g c6fpg ;S5 . 

 
 

M shell of atom can accommodate maximum …….... electrons. 
 
 
%= xl/of] la?jfn] k|sfz ;+Zn]if0f ls|ofdf==============UofF; aflx/ kmfNb5 . 

 
 

Green plant releases …………gas during photosynthesis. 
 
 
 
 
 
v_ 7Ls pQ/df /]hf lrXg (√) nufpg'xf];\ . Tick (√) the correct answer. (18×1=18) 

 
 
^= g]kfnsf] ;a}eGbf 7"nf] /fli6«o lgs'~h s'g xf] < Which is the largest national park of Nepal? 

 
 

a) k;f{ /fli6«o lgs'~h (Parsa National Park) 
 
 

b) /f/f /fli6«o lgs'~h (Rara National Park) 
 
 

c) ;]—kmf]S;'08f] /fli6«o lgs'~h (Shey – Phoksundo National Park) 
 
 

d) lrtjg /fli6«o lgs'~h (Chitwan National Park) 
 

 
 
 
 
&= 8«fO ;]ndf Pdf]lgod Snf]/fO8sf] k|of]u lsg ul/G5 < Why ammonium chloride is used in dry cell? 

 
 

a) ljB't\ ljR5]bg k|lqmof ;~rfng ug{ (To conduct the electrolysis) 
 
 

b) kf]n/fOh];g c;/ 36fpg (To reduce the polarization effect) 
 
 

c) :yfgLo lqmof 36fpg (To reduce the local effect) 
 
 

d) ;:tf] d"No sfod ug{ (To maintain the low cost) 
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2 

3 

*= tnsfdWo] s'g pks/0fn] /f;folgs zlQmnfO{ ljB'tLo zlQmdf ¿kfGt/0f u5{ < 
 

Which of the following instrument converts chemical energy into electrical energy ? 
 
 

a) 8«fO ;]n ( Dry cell) b) kmf]6f] ;]n (Photo cell) 
 
 

c) 8fOgfdf] (Dynamo) d) OGe6{/ (inverter) 
 
 
 
 
 
(= k[YjLsf] sIfLo w/ftn o;sf] cIf;Fu slt sf]0fdf 9Ns]sf] 5 < 

 
 

At which angle does the orbital plane of the earth remain inclined with its axis ? 
 
 

a) 60.5° b) 45.5° 
 
 

c) 65.5° d) 66.5° 
 
 
 
 
 
!)= ;f]l8od tTjsf] k/df0f'df On]S6«f]g, k|f]6f]g / Go'6«gsf] ;ª\Vof s|dzM 11,11, 12 5 eg] o;sf] kf/df0fljs ef/ 

 

slt x'G5 < What is the atomic weight of sodium if the number of electron, proton and neutron 
are 11, 11, 12 respectively? 

 
 

a) 23 b) 22 

c) 21 d) 20 

 
 
11.       This question is kept blank.  
 
 
 
 
 
!@= clS;hg UofF;sf] cf0fljs ;'q s'g xf] < Which is the molecular formula of oxygen gas? 

 
 

a) 2O b) O 
 
 

c) O d) O 
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!#= s]Gb|Ls/0f b"/L 5 ;]=dL= ePsf] sGs]e P]gfdf P]gfaf6 7 ;]=dL= 6f9f /flvPsf] j:t'sf] cfs[lt s:tf] aG5 < 
 

What type of image is formed when an object is placed at 7 cm distance from the concave 
mirror with 5 cm focal length? 

 
 

a) jf:tljs, pN6f] / j:t'eGbf ;fgf] (Real, inverted and diminished) 
 
 

b) jf:tljs, pN6f] / j:t'eGbf 7"nf]] (Real, inverted and magnified) 
 
 

c) jf:tljs, ;'N6f] / j:t'eGbf ;fgf] (Real, erect and diminished) 
 
 

d) cjf:tljs, pN6f] / j:t'eGbf ;fgf] (Virtual, inverted and diminished) 
 
 
 
 
 
!$= /]g uh s] sf] dfkgsf nflu k|of]u ul/G5 ? What quantity is measured by rain gauge? 

 
a) jiff{ (Rain) b) jfo'sf] lbzf (Wind direction) 

 

c) 
 

jfo'd08nLo rfk (Atmospheric Pressure) 
 

d) 
 

tfkqmd (Temperature) 
 
 
 
 
15.       This question is kept blank.  
  
 
 
 
 
!^= clDno jiff{ u/fpg e"ldsf v]Ng] d'Vo UofF; tnsfdWo] s'g xf] < 

 
Which of the following gas plays main role for acid rain? 

 
 

a) kfgLsf] jfkm (Water vapour) 
 
 

b) ;Nkm/ 8fOcS;fO8 (Sulphur dioxide) 
 
 

c) Snf]/f]ˆnf]/f] sfj{g (Cholorofluoro Carbon) 
 
 

d) cf]hg (ozone) 



lj1fg -S1-B_. 6  

!&= tnsfdWo] cgljs/0fLo k|fs[lts ;|f]tsf] pbfx/0f s'g xf] < 
 

 
Which of the following is an example of non-renewable natural resource? 

 
 

a) hª\un (Forest) b) vlgh (Minerals) 
 
 

c) kfgL (Water) d) xfjf (Air) 
 
 
 
 
 
!*= k|sfz ;+Zn]if0f lqmofsf nflu dxTjk"0f{ tTj s'g xf] < Which is the important factor for photosynthesis? 

 
a) tfk (Heat) b) k|sfz (Light) 

 

c) 
 

rfk (Pressure) 
 

d) 
 

lr;f] (Cold) 
 
 
 
 
!(= hLljt sf]ifx¿df dfq k|hgg\ ug{ ;Sg] cToGt} ;fgf] ;"Id hLj s'g xf] < 

 

 
Which is the microscopic agent that replicates only inside the living cells of other organisms? 

 
 

a) cldjf (Amoeba) b) efO/; (Virus) 
 
 

c) JofS6]l/of (Bacteria) d) xfO8«f (Hydra) 
 
 
 
 
 
@)= ;Nkm/sf] k/df0f'df sltcf]6f k|f]6f]g x'G5g\ < 

 

 
How many protons are there in an atom of Sulpher? 

 
 

a) 13 b) 14 

c) 15 d) 16 

 
 
 
@!= Pp6f 3 ls=u|f= sf] 9'ËfnfO{ 4 ld6/ dfly p7fpg slt zlQm cfjZos kb{5 < 

 
What amount of energy is required to lift a stone of 3kg up to 4m height? 

 
 

a) 110J b) 120J 
 
 

c) 125J d) 126J 



lj1fg -S1-B_. 7  

@@= tnsfdWo] :6\of088{ jfo'd08nLo rfk s'g xf] < 
 

Which of the following is the standard atmospheric pressure? 
 
 

a) 740 mmHg b) 750 mmHg 

c) 760 mmHg d) 770 mmHg 

 
 
 
@#= ;fwf/0f oGqsf] sfo{Ifdtf kQf nufpg] ;"q s] xf] < 

 
Which of the following is the formula to find the efficiency of simple machine ? 

 

 

a) OGk'6 sfo{ = cfp6k'6 sfo{ (Input work = output work) 
 

b) oflGqs kmfObf÷ult cg'kft × 100% ( Mechanical advantage 
Velocity ratio 

 
 
 
 
× 100%) 

 

c) nf]8÷Okmf]6{ (Load/Effort ) 
 

d) nf]8 b'/L÷Okmf]6{ b'/L ( Load distance  ) Effort distance 
 
 
 
 
@$= b'O{ cf]6f uf8Lx¿ ;dfg ultdf Pp6} lbzfdf uO/x]sf 5g\ eg] To:tf] cj:yfdf uf8Lsf] ;fk]lIft ult slt 

 

x'G5 < If two vehicles are moving with uniform velocity in the same direction, what will be the 
expected relative velocity? 

 
 

a)       ult b'O{ u'0ff a9\5 (Velocity increases by two times) 

b)       ult b'O{ u'0ff 36\5 (Velocity decreases by two times) 

c)       ult ;dfg x'G5 (Velocity will be uniform) 

d)       ult z'Go x'G5 (Velocity will be zero) 
 
 
 
 
 
@%= kbfy{sf] 3gTj dfkg ug{ tnsfdWo] s'g PsfO k|of]u ul/G5 < 

 
Which of the following units is used to measure the density of substances? 

 
 

a) Kg/m² b)  gm/ cm² 

c) Kg/m³ d) Kg 
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u_ k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . 
 

 
Write the answer of each question. (5×1=5) 

 
 
@^= /Qm;~rf/ k|0ffnLsf] Ps sfo{ pNn]v ug'{xf];\ . 

 
 

Mention one major function of Circulatory system. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
@&= g]kfndf kfOg] s'g} @ cf]6f nf]kf]Gd'v :tgwf/Lx¿sf] gfd pNn]v ug'{xf];\ . 

 
 

Mention any two endangered mammals found in Nepal. 
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@*= cNsf]xn / kfgLsf] ld>0faf6 o;sf cjojx¿nfO{ 5'6\ofpg s'g ljlwsf] k|of]u ug'{k5{ < 
 
 

Which method is used to separate the components of the mixture of alcohol and water? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

@(= km"nsf] s'g efudf k/fus0fx¿ aGb5g\ < 
 
 

In which part of flower pollen grains are formed? 
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#)= %) ld6/sf] prfOdf em''08\ofOPsf] es'08f]df s'g zlSt /x]sf] x'G5 < 
 
 

What type of energy is stored in a ball hanging at 50 m high? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3_ k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . 

 
 

Write the answer of each question. (7×2=14) 
 
 
#!= ydf]{ld6/df cNsf]xnsf] ;§f kf/f]sf] k|of]u ubf{ x'g] b'O{cf]6f kmfObfx¿ n]Vg'xf];\ . 

 
 

Write any two advantages of using mercury as thermometric liquid instead of alcohol. 
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#@= o; ;f}o{d08nsf c¿ u|xx¿df hLjx¿ 5}gg\ . k[YjLdf dfq hLj x'g'sf s'g} b'O{ cf]6f sf/0fx¿ pNn]v 

ug'{xf];\ . 

There is no existence of life on other planets of solar system. Mention any two reasons behind 

the existence of life only on the Earth. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
##= rfFbL wft'sf b'O{ pkof]u pNn]v ug'{xf];\ . 

 
 

Mention two uses of silver metal. 
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#$= Pp6f la?jfsf] km"nsf] ;kmf lrq sf]/L o;df kqbn / k'ikbn b]vfpg'xf];\ . 
 
 

Draw a clear diagram of a flower of a plant and show the calyx and corola. 
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#%= df6f] ;+/If0fsf b'O{ tl/sfx¿ pNn]v ug'{xf];\ . 
 
 

Mention two methods for conservation of soil. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

#^= Pp6f uf8L 72km/hr sf] ultdf rln/x]sf] 5 eg] 20 ldg]6df o;n] kf/ u/]sf] b"/L slt x'G5 < If a vehicle 

is moving with a velocity of 72km/hr, what is the distance covered by it in 20 minutes ? 
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#&= Pp6f % ld= nDafOsf] l9lsRofpF 7Ls aLrdf c8\ofOPsf] 5 . %) s]hL lk08 ePsL Pp6L s]6L s]Gb|af6 
 

! ld= b"/Ldf a;]sL l5g\ . @) s]hLsf] Pshgf s]6f] l9lsRofpFsf] csf]{tkm{, s]Gb|af6 slt b"/Ldf a:bf pQm 

s]6Lsf] tf}nnfO{ ;Gt'ng ug{ ;S5 < A uniform seesaw of 5 m length is supported at center. A girl 

weighing 50 Kg mass sits at 1 meter distance from center of seesaw. Find the distance where a 

boy of 20 Kg mass must sit to balance the weight of girl on other side of the seesaw. 
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ª_ k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . 
 
 

Write the answer of each question. (2×3=6) 
 
 
#*= cDnLo jiff{ s;/L x'G5 < o;sf b'O{ c;/x¿ pNn]v ug{'xf];\ . 

 
 

How does acid rain occur? Mention its two effects. 
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#(= cfhsn ljZjdf k[YjLsf] tfkdfg al9/x]sf] / xfjfkfgLdf k|lts"n kl/jt{g cfPsf]] 5 . o;f] x'g glbgsf nflu 

s] s] pkfox¿ ckgfpg' knf{ < s'g} tLg cf]6f a'Fbfdf pQ/ n]Vg'xf];\ . 

 
Nowadays, earth's temperature increases day by day and weather also changes badly. What are 

the mitigating ways to control such condition? Write the answer with any three points. 


